Subnetting A Exercises

Problem #1 Nets Needed: 500
N - - © N < :Class:
< [+9] © ~ wn o
Networks ~ < © © S S N b s § g §_ E & = 3 §~ E‘ §~ < E e Default Mask:
- o = o < S © & 8 o 9 S 3 S 2 Custom Mask:
= o <
Bits Barrowed:
© @ S & © o < o ° - - Subnets:
Hosts E § g 5 '§ § E § § E § § § g § ™ © Q < 3 © © < Total Hosts:
s 2 F & 2 & & ° © o = ¥ & = Usable Hosts:
Mask 128 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255
Borrowed 1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 9 10 n 12 13 14 15 16
. L
128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1
Net Hosts Net Usable Broad
1 30k .
2 12k
3 4k
4 4k
5 3k
6 2k
7 2k
8 2k
9 2k
10 2k
11 2k
12 2k
13 2k
14 1k
15 1k
16 1k
17 1k
18 1k
19 1k
20 1k
21 1k
22 1k
23 1k
24 1k
25 1k
26 1k
27 1k
28 1k
29 1k
30 1k
31 1k

Visit TechKnowSurge.com for more training and resources!
© 2013 TechKnowSurge®. All rights reserved.




Subnetting A Exercises

Problem #1 - Answer

Nets Needed: 500
- ° ° o 3 @ @ & 3 ® E E § Class: A
Networks ~ < ) © S 3 8 E g S‘ g‘ 8 2 8_ :~ £~ 2 ~ 3 2'; 5 g‘ Default Mask: 255.0.0.0
- N v ® - « © e ] o = & < Custom Mask:  255.255.128.0
Bits Barrowed: 9
© Q < I © .
Hoste E §_ E‘ E E\ § § E § § % & § g 3 o © g < o © o < Subnets: 512
R g 2 8 3§ § & =@ sls ¢ & S 2 & © = Total Hosts: 32,768
- @ ¥ o - Usable Hosts: 32,766
Mask 128 192 224 240 248 252 254 255 1 192 224 240 248 252 254 255 128 192 224 240 248 252 254 255
Borrowed 1 2 3 4 5 6 7 8 9 10 m 12 13 14 15 16 9 10 M 12 13 14 15 16
10. - _ - __ _ - -
128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1 128 64 32 16 8 4 2 1 First Octet Omitted to Save Space
Net Hosts Net Usable Broad
1 30k 0 0 [ [ 0 0 0 0 0 0.0.0 0.0.1-10.0.127.25¢ | 0.127.255
2 12k 0 0 0 0 0 0 0 0 1 0.128.0 0.128.1 - 0.255.25¢ 0.255.255
3 4k 0 0 0 0 0 0 0 1 0 1.0.0 1.0.1-1.127.25¢ 1.127.255
4 4k 0 0 0 0 0 0 0 1 1 1.128.0 1.128.1 — 1.255.25¢ 1.255.255
5 3k 0 0 0 0 0 0 1 0 0 2.0.0 2.0.1-2.127.25¢ 2.127.255
6 2k 0 0 0 0 0 0 1 0 1 2.128.0 2.128.1 - 2.255.25¢ 2.255.255
7 2k 0 0 0 0 0 0 1 1 0 3.0.0 3.0.1-3.127.25¢ 3.127.255
8 2k 0 0 0 0 0 0 1 1 1 3.128.0 3.128.1 — 3.255.25¢ 3.255.255
9 2k 0 0 0 0 0 1 0 0 0 4.0.0 4.0.1 - 4.127.25¢ 4.127.255
10 2k 0 0 0 0 0 1 0 0 1 4.128.0 ¢.128.1 — 4.255.25¢ 4.255.255
1 2k 0 0 0 0 0 1 0 1 0 5.0.0 5.0.1 —5.127.25¢ 5.127.255
12 2k 0 0 0 0 0 1 0 1 1 5.128.0 5.128.1 — 5.255.25¢ 5.255.255
13 2k 0 0 0 0 0 1 1 0 0 6.0.0 6.0.1 - 6.127.25¢ 6.127.255
14 1k 0 0 0 0 0 1 1 0 1 6.128.0 6.128.1 — 6.255.25¢ 6.255.255
15 1k 0 0 0 0 0 1 1 1 0 7.0.0 2.0.1—7.127.25¢ 7.127.255
16 1k 0 0 0 0 0 1 1 1 1 7.128.0 7.128.1 — 7.255.25¢ 7.255.255
17 1k 0 0 0 0 1 0 0 0 0 8.0.0 8.0.1— 8.127.25¢ 8.127.255
18 1K 0 0 0 0 1 0 0 0 1 8.128.0 8.128.1 — 8.255.25¢ 8.255.255
19 1Kk 0 0 0 0 1 0 0 1 0 9.0.0 9.0.1-9.127.25¢ 9.127.255
20 1k 0 0 0 0 1 0 0 1 1 9.128.0 9.128.1 - 9.255.25¢ 9.255.255
21 1k 0 0 0 0 1 0 1 0 0 10.0.0 10.0.1-10.127.25¢ | 10.127.255
22 1k 0o 0o (9] (9] 1 0o 1 0o 1 10.128.0 10.128.1 - 10.255.25¢ 10.255.255
23 1k 0 0 0 0 1 0 1 1 0 11.0.0 11.0.1 — 11.127.25¢ 11.127.255
24 1K 0 0 0 0 1 0 1 1 1 11.128.0 | 11.128.1-11.255.25¢ | 11.255.255
25 1K 0 0 0 0 1 1 0 0 0 12.0.0 12.0.1-12.127.25¢ | 12.127.255
26 1k 0 0 0 0 1 1 0 0 1 12.128.0 | 12.128.1-12.255.25¢ | 12.255.255
27 1k 0 0 0 0 1 1 0 1 0 13.0.0 13.0.1 — 13.127.25¢ 13.127.255
28 1k 0 0 0 0 1 1 0 1 1 13.128.0 | 13.128.1-13.255.25¢ | 13.255.255
29 1k o 0 0 0 1 1 1 0 0 14.0.0 14.0.1-14.127.25¢ | 14.127.255
30 1k 0 0 0 0 1 1 1 0 1 14.128.0 | 14.128.1-1¢.255.25¢ | 1¢.255.255
31 1k 0 0 0 0 1 1 1 1 0 15.0.0 15.0.1-15.127.25¢ | 15.127.255
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